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101|R#A7 L 501 249 252| Kg |EE 1,296 432| 2,484 648
102|357 L 2,179 2179 Kg BIE 1,566 555
111|&EEF £ 191 191| Kg =40 1,782 324
113|RAV S 6 6 Kg |&)II 863 756
114|B5EFE 171 25 146 Kg |&)I 1,296 BRE - &E 2,970 1,620
117[14 % 62 7 55 Kg |EE 648 594|FfE 3,780 810
121{hblE € 145 2 143| Kg |EE 1,512 =35 864 583
134[#= 354 236 118| Kg |&& - =8 2,700 1,100| & 2,592 1,620
137|&5E3.< 460 377 83| Kg |BER 3,996 1,728|BH 6,953 3,564
138|#ik £ = 106 47 59| Kg |EE 972 756/ ) 1,080 810
140(5 I 21 21| Kg e[AEs 28,800 16,200
147|EZ O 89 89| Kg BRE - il 7,344 4,000
158|EIEA A LS 518 310 208 Kg |ERE 1,188 594| =40 3,208 1,080
201{Lvb L 1,488 1,488 Kg FE - =5 810 252
203|/hd L 88 88| Kg =5 432 54
205|3.3 L 601 601| Kg K% 562 216
206| = 1F 530 530| Kg KI5 1,037 216
207|= A K 24 24| Kg imE 716
208| Mo % 108 108| Kg R 2,484 864
212|&5E.3Y 1,603 1,603| Kg BIE 2,322 1,080
254|EhRECH 748 28 720| Kg |FE 2,052 T 2,376 972
303|1A 220 10 10| Kg L 648 617
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305[£Aah 0 67 67 Kg FE 3,780 1,944
319|2h o 581 40 5411 Kg |RI& 1,620 1,080| K& - R#D 2,376 540
332|= 13 WA =EF 194 194] Kg Bl = 3,024 2,160
3bl{HHV 25 5 20| Kg [3&E 3,564 FE 3,834

35411FxE<Y 95 15 80| Kg |FFE 2,160 = 3,564 1,134
355(mp Y 120 120 Kg FH - P E 1,836 600
356(L L& 50 10 40| Kg |EH 324 SER 1,512 864
357|7RE 30 30 Kg FEE 2,160 945
358|KE 10 10| Kg FAN 2,700

362| & 686 686| Kg N 4,320 583
4025 E 5 5| Kg FA 5,616
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A—JLWLh 20 201 Kg 2P 1,026

AEA L 358 358 Kg JbiF 1,400 432
AERBAT AT 2,141 2,141 Kg 2P 4,320 1,361
BRCZEZV 81 81| Kg 2yl 1,728 1,470
E A AE 20 201 Kg F 1,150

TRE 20 201 Kg JbiF 1,296 1,026
AT Z 873 873 Kg 2P 3,800 880
BRI 2,542 2,542 Kg 7 - dbF 2,430 1,150
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70110 BA 287 179 108| Kg |[|EE 3,300 2,677| = 1,890 1,701
709|Lb LALF 3 3| Kg FE 1,890
710(2 2 AT 71 71 Kg Ko 783 756
BlEFAI L 170 113 57 Kg |B1R 889 802 | &1R 771
755|FH&» C 21 21 Kg EE 803 728
T56(FNET 58 58] Kg Ko 1,080
76l|b Y AEE 12 12 Kg FOarL 2,620
76713725 WD 21 21 Kg EE 3,780 1,548
801|BHL =T 1,819 1,819 Kg ¥ - A 1,728 1,166
802|111 220 220 Kg blo ] 1,404 648
805 = 1E 352 3521 Kg bF 1,656 691
810|BAKTF 1,187 1,187 Kg JbF 3,240 194
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